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B A

BEXIE1 | EXE2 i ENE | ENE2 | ENE3 | ENEL | ENEES g =X
T 15 HRARKE R 76 63 139 100 88 58 53 44 343 482
658 LI 75k 11 13 24 5 19 8 14 10 56 80
8 758k 65 50 115 95 69 50 39 34 287 402
F 25 HEKEHE 5 3 8 4 6 2 2 2 16 24
ik 81 66 147 104 94 60 55 46 359 506

BEXIE1 | EXE2 i ENE | ENE2 | ENE3 | ENEL | ENEES g =X
T 15 HRARKE R 171 173 344 239 145 109 135 86 714 1,058
65i% Ll E 75 KiE 18 16 34 15 11 10 8 6 50 84
T 758k 153 157 310 224 134 99 127 80 664 974
F 25 HEKEHE 4 2 6 3 2 1 3 2 11 17
ik 175 175 350 242 147 110 138 88 725 1,075

BEXIE1 | EXE2 i ENE | BENE2 | ENE3 | ENEL | ENES g =X
T 15 HRARKE R 247 236 483 339 233 167 188 130 1,057 1,540
658 LI 75k 29 29 58 20 30 18 22 16 106 164
B 758k 218 207 425 319 203 149 166 114 951 1,376
F 25 HEKEHE 9 5 14 7 8 3 5 4 27 41
fask 256 241 497 346 241 170 193 134 1,084 1,581




